Name

Quiz Topics 12 - 13

1. 
Find the following values (Given that the P(Z<0.93) = .8238):

a. P(Z < -0.93)

b. P(Z > 0.93)

c. P(Z > -0.93)

d. P(-0.93 < Z < 0.93)

e. P(Z < -0.93 or  0.93 <  Z)

2.
Assuming that the parameter for a particular variable is π = .81, find the following probabilities (calculate by finding the associated Z-score and then the probability): 


a. 
P(x < .75) = 


b.
P(x > .75) =

c.
P( .75 < x < .93) =


d.
P(x > .93) = 

3. Assuming that the parameter for a particular proportion variable is π = .63. You will be taking samples of size 100 from this population. Using the Central Limit Theorem find ( and find the following probabilities (calculate by finding the associated Z-score and then the probability):

Recall that the standard deviation of a sample of size n is sqrt(π(1-π)/n))
a. What is n for this example = 

b. What is ( = 

c. P(p-hat < .5) =

d. P(p-hat > .7) =

e. Change n so that ( is half as large as it is in part b.
